[222 00000 (Theory of Computation) Report (5)

200700 I1-10 (10,11 0)
O0: 00 00 (uehara@jaist.ac.jp)

00 (Propose): 110 90 (O) (November 9 (Fri))
00 (Deadline): 110 160 (0) 00000 (November 16 (Fri), 10:50)

00 (Note): 000000000000 DOO0O0OODOOOOD0OOOOU0OOOOOODOOO(Do not forget

to handwrite your name, student ID, problem numbers, and answers on your report.)

Problem 1 (1 point): DO0O0O0000EXP = UpmoTIME(2Y) 0000000000000 (Prove
EXP = UoTIME(2Y) based on the definitions.)

Problem 2 (2 points): 00 000000P=co-PO0O0OOOO0ODOOOO (Prove P =co-P based on
the definitions.)

Problem 3 (2 points): 00000 (BIN)O NPOOOOOODODDODOOOO(Prove that the bin packing
problem (BIN) is an AP problem.)



